NOTA: Lea las instrucciones antes de comenzar su instalacién y montaj

NISUTA Suia delnstalacion

PRECAUCION:
NO EXCEDA DEL PESO
MAXIMO INDICADO.

www.nisuta.com | hola@nisuta.com | (© Soporte Técnico +54 9 11 6628-1252




Muy corto

Muy largo

v I8 |IxE &

M)

A ~
= ¥3
A XX
Al T
AN <o
A WT

1%

W-B (x4)

@10x45

W-C (x4)

D6

M-B (x4)
M5x14

M-A (x4)
M4x14

M-D (x4)
M8x15

M-C (x4)
M6x14

(2 3/8M

2 10mm

@ 4.5mm
(2 3/16™)




